Hybrid dual finite element method

Numerical experiments

Hybrid Dual Finite Element Methods

THIRD WORKSHOP ON MINIMUM RESIDUAL & LEAST-SQUARES FINITE ELEMENT METHODS

Yi Zhang^{1a}, Varun Jain¹, Artur Palha^{1,2}, Marc Gerritsma¹

^aY.Zhang-14@tudelft.nl

¹Faculty of Aerospace Engineering, Delft University of Technology, The Netherlands ²Department of Mechanical Engineering, Eindhoven University of Technology, The Netherlands





2nd October 2017

Differential forms

Recap	Hybrid dual finite element method	
0000	00000	00000

Differential forms

- wedge product : (metric free)
 - $\wedge:\Lambda^k(\Omega)\times\Lambda^l(\Omega)\to\Lambda^{k+l}(\Omega)$
- exterior derivative : (metric free)
 - $\mathrm{d}:\Lambda^k(\Omega)\to\Lambda^{k+1}(\Omega)$

• * Leibniz rule : $d(a^{(k)} \wedge b^{(l)}) = da^{(k)} \wedge b^{(l)} + (-1)^k a^{(k)} \wedge db^{(k)}$

Differential forms

- wedge product : (metric free)
 - $\wedge:\Lambda^k(\Omega)\times\Lambda^l(\Omega)\to\Lambda^{k+l}(\Omega)$
- exterior derivative : (metric free)
 - $\mathrm{d}:\Lambda^k(\Omega)\to\Lambda^{k+1}(\Omega)$

Differential forms

- wedge product : (metric free)
 - $\wedge:\Lambda^k(\Omega)\times\Lambda^l(\Omega)\to\Lambda^{k+l}(\Omega)$
- exterior derivative : (metric free)

 $\mathrm{d}:\Lambda^k(\Omega)\to\Lambda^{k+1}(\Omega)$

• * Leibniz rule : $d(a^{(k)} \wedge b^{(l)}) = da^{(k)} \wedge b^{(l)} + (-1)^k a^{(k)} \wedge db^{(k)}$

Hodge $\star : \Lambda^k(\Omega) \to \Lambda^{n-k}(\Omega); \quad \Lambda^k(\Omega), \ \Lambda^{n-k}(\Omega)$ differently oriented **inner product** :

$$\left(a^{(k)},b^{(k)}
ight)_{\Omega}=\int_{\Omega}a^{(k)}\wedge\star b^{(k)}$$

Differential forms

- wedge product : (metric free)
 - $\wedge:\Lambda^k(\Omega)\times\Lambda^l(\Omega)\to\Lambda^{k+l}(\Omega)$
- exterior derivative : (metric free)

$d:\Lambda^k(\Omega)\to\Lambda^{k+1}(\Omega)$

■ ** Leibniz rule : $d(a^{(k)} \wedge b^{(l)}) = da^{(k)} \wedge b^{(l)} + (-1)^k a^{(k)} \wedge db^{(k)}$ ■ Hodge *: $\Lambda^k(\Omega) \rightarrow \Lambda^{n-k}(\Omega)$; $\Lambda^k(\Omega)$, $\Lambda^{n-k}(\Omega)$ differently oriented

inner product :

$$\left(a^{(k)},b^{(k)}
ight)_{\Omega}=\int_{\Omega}a^{(k)}\wedge\star b^{(k)}$$



Algebraic topology



Algebraic topology



Algebraic topology



u1 u2 u3 u4 u5 u6 u7

10.14

 ψ_{16}

 ψ_{12}

 $-\overline{u}_8$

ψa

 $\mathbf{x}^{\overline{\mathbf{u}}_4}$

 \tilde{u}_{21}

 f_6

Va -

Algebraic topology



Basis functions



FIGURE – Lagrange polynomials (N = 4) on Gauss–Lobatto mesh



FIGURE – Edge polynomials (N = 4) on Gauss–Lobatto mesh

Toward hybridization

Dual finite element method

 \downarrow

Hybrid dual finite element method





Hybridization



Hybridization



Hybridization



We consider a constrainted minimization problem given as

$$\min_{du^{(n-1)}=-f^{(n)}}\frac{1}{2}\left(u^{(n-1)},u^{(n-1)}\right)_{\Omega}$$

We consider a constrainted minimization problem given as

$$\min_{u^{(n-1)}=-f^{(n)}}\frac{1}{2}\left(u^{(n-1)},u^{(n-1)}\right)_{\Omega}$$

d

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

We consider a constrainted minimization problem given as

$$\min_{u^{(n-1)}=-f^{(n)}}\frac{1}{2}\left(u^{(n-1)},u^{(n-1)}\right)_{\Omega}$$

d

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

$$\begin{cases} u^{(n-1)} = \star \mathrm{d} \tilde{\phi}^{(0)} & \quad \text{in } \Omega \\ -\mathrm{d} u^{(n-1)} = f^{(n)} & \quad \text{in } \Omega \\ \mathrm{tr } \tilde{\phi}^{(0)} = 0 & \quad \text{on } \Gamma \end{cases}$$

Recap			
0000			

Hybrid dual finite element method

2nd order elliptic problem

We consider a constrainted minimization problem given as

$$\min_{u^{(n-1)}=-f^{(n)}}\frac{1}{2}\left(u^{(n-1)},u^{(n-1)}\right)_{\Omega}$$

d

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

$$\begin{cases} u^{(n-1)} = \star \mathrm{d} \tilde{\phi}^{(0)} & \text{ in } \Omega \\ -\mathrm{d} u^{(n-1)} = f^{(n)} & \text{ in } \Omega \\ \mathrm{tr} \ \tilde{\phi}^{(0)} = 0 & \text{ on } \Gamma \end{cases}$$

$u = \nabla \phi$	in Ω
$\left\{ -\nabla \cdot \boldsymbol{u} = f \right\}$	in Ω
$\phi = 0$	on Γ

Recap		
0000		

Hybrid dual finite element method

Numerical experiments

2nd order elliptic problem

We consider a constrainted minimization problem given as

$$\min_{\mathbf{d}u^{(n-1)}=-f^{(n)}}\frac{1}{2}\left(u^{(n-1)},u^{(n-1)}\right)_{\Omega}$$

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

$$\begin{cases} u^{(n-1)} = \star \mathrm{d} \tilde{\phi}^{(0)} & \quad \text{in } \Omega \\ -\mathrm{d} u^{(n-1)} = f^{(n)} & \quad \text{in } \Omega \\ \mathrm{tr} \ \tilde{\phi}^{(0)} = 0 & \quad \text{on } \Gamma \end{cases}$$

$$\begin{cases} \boldsymbol{u} = \nabla \boldsymbol{\phi} & \text{in } \Omega \\ -\nabla \cdot \boldsymbol{u} = \boldsymbol{f} & \text{in } \Omega \\ \boldsymbol{\phi} = 0 & \text{on } \Gamma \end{cases}$$



$$\mathcal{L}(\tilde{\varphi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(du^{(n-1)} + f^{(n)} \right) \wedge \tilde{\varphi}^{(0)},$$

Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

Extended Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) + \int_{\Gamma'} \left[\operatorname{tr} u^{(n-1)} \right] \wedge \tilde{\lambda}^{(0)}$$

Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

Extended Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) + \int_{\Gamma'} \left[\operatorname{tr} u^{(n-1)} \right] \wedge \tilde{\lambda}^{(0)}$$



Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

Extended Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) + \int_{\Gamma'} \left[\operatorname{tr} u^{(n-1)} \right] \wedge \tilde{\lambda}^{(0)}$$



Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \frac{1}{2} \left(u^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \left(\mathrm{d} u^{(n-1)} + f^{(n)} \right) \wedge \tilde{\phi}^{(0)},$$

Extended Lagrange functional :

$$\mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) = \mathcal{L}(\tilde{\phi}^{(0)}, u^{(n-1)}) + \int_{\Gamma'} \left[\operatorname{tr} u^{(n-1)} \right] \wedge \tilde{\lambda}^{(0)}$$

Hybrid weak formulation : $\operatorname{Given} f^{(n)} \in L^2 \Lambda^n(\Omega)$, seek

$$\left\{u^{(n-1)}, \tilde{\varphi}^{(0)}, \tilde{\lambda}^{(0)}\right\} \in \left\{H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma)\right\},$$

such that

$$\begin{cases} \left(v^{(n-1)}, u^{(n-1)}\right)_{\Omega} - \int_{\Omega} \mathrm{d}v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0\\ - \int_{\Omega} \mathrm{d}u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} ,\\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)}\right] &= 0 \end{cases}$$
for all $\left\{v^{(n-1)}, \tilde{\psi}^{(0)}, \tilde{\gamma}^{(0)}\right\} \in \left\{H\Lambda^{(n-1)}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}(\Gamma)\right\}.$

$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^{2}\tilde{\Lambda}^{0}(\Omega), H_{0}^{1/2}\tilde{\Lambda}^{0}(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \mathrm{d}v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \mathrm{tr} \; v^{(n-1)} &= 0 \\ - \int_{\Omega} \mathrm{d}u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\mathrm{tr} \; u^{(n-1)} \right] &= 0 \end{split} \right.$$

$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^{2}\tilde{\Lambda}^{0}(\Omega), H_{0}^{1/2}\tilde{\Lambda}^{0}(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \mathrm{d}v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_{\Omega} \mathrm{d}u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \mathrm{tr} \; v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\mathrm{tr} \; u^{(n-1)} \right] &= 0 \end{split} \right.$$



- $L^2_h \tilde{\Lambda}^0(\Omega_{\text{ref}}) : P^{(G,0)}_{N,N}(\xi, \eta)$, the function space spanned by the polynomials based on Gauss nodes.
- $\blacksquare H_h \Lambda^{(n-1)}(\Omega_{\mathrm{ref}}) : L_{N,N}^{(\mathrm{GL};1)}(\xi,\eta), \text{ the function space} spanned by the polynomials based on Gauss-Lobatto edges.}$
- $L_{h}^{2}\Lambda^{(n)}(\Omega_{\text{ref}}): S_{N,N}^{(\text{GL},2)}(\xi,\eta)$, the function space spanned by the polynomials based on Gauss-Lobatto faces.
- $= H_h^{1/2} \tilde{\Lambda}(\Gamma_{\rm ref}) : P_N^{(G,0)}(\xi), \text{ the function space spanned by the polynomials based on Gauss nodes in the 1-d reference space <math>\Gamma_{\rm ref} | \xi = [-1,1].$

$$\begin{split} \left\{ u^{(n-1)}, \tilde{\varphi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\varphi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right. \end{split}$$





$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^{2}\tilde{\Lambda}^{0}(\Omega), H_{0}^{1/2}\tilde{\Lambda}^{0}(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \mathrm{d}v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \mathrm{tr} \; v^{(n-1)} &= 0 \\ - \int_{\Omega} \mathrm{d}u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\mathrm{tr} \; u^{(n-1)} \right] &= 0 \end{split} \right.$$

Mapping Φ_K : $\Omega_{\text{ref}} | (\xi, \eta) = [-1, 1]^2 \rightarrow | \Omega_K | (x, y)$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \bar{\Lambda}^0(\Omega), H_0^{1/2} \bar{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \mathrm{tr} \; v^{(n-1)} &= 0 \\ - \int_{\Omega} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\mathrm{tr} \; u^{(n-1)} \right] &= 0 \end{split} \right.$$

Mapping Φ_K : $\Omega_{\text{ref}} | (\xi, \eta) = [-1, 1]^2 \rightarrow \Omega_K | (x, y)$

Pullback : $\Phi_K^* : \Lambda^k(\Phi(\Omega_K)) \to \Lambda^k(\Omega_{\text{ref}})$

$$\int_{\Phi(\mathcal{M})} a^{(k)} = \int_{\mathcal{M}} \Phi^* a^{(k)}.$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \mathrm{tr} \; v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\mathrm{tr} \; u^{(n-1)} \right] &= 0 \end{split} \right.$$

Mapping
$$\Phi_K : \Omega_{ref} | (\xi, \eta) = [-1, 1]^2 \to \Omega_K | (x, y)$$

Pullback $: \Phi_K^* : \Lambda^k(\Phi(\Omega_K)) \to \Lambda^k(\Omega_{ref})$
 $\int_{\Phi(\mathcal{M})} a^{(k)} = \int_{\mathcal{M}} \Phi^* a^{(k)}.$

Pullback commutes with the metric-independent operators, i.e. exterior derivative d and the wedge product \land :

$$\Phi^* \mathrm{d} a^{(k)} = \mathrm{d} \Phi^* a^{(k)}$$
 $\Phi^* \left(a^{(k)} \wedge b^{(l)}
ight) = \Phi^* a^{(k)} \wedge \Phi^* b^{(l)}$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$

$$\int_{\Omega_K} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} =$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$

$$\int_{\Omega_K} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} = \int_{\Phi_K(\Omega_{\mathrm{ref}})} \mathrm{d} \Phi_K^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_K^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)}$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$

$$\begin{split} \int_{\Omega_{K}} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Phi_{K}(\Omega_{\mathrm{ref}})} \mathrm{d} \Phi_{K}^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_{K}^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \\ &= \int_{\Omega_{\mathrm{ref}}} \Phi_{K}^{*} \left(\mathrm{d} \Phi_{K}^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_{K}^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \right) \end{split}$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H\Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_\Omega - \int_\Omega \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_\Omega \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_\Omega f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$

$$\begin{split} \int_{\Omega_K} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Phi_K(\Omega_{\mathrm{ref}})} \mathrm{d} \Phi_K^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_K^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \\ &= \int_{\Omega_{\mathrm{ref}}} \Phi_K^* \left(\mathrm{d} \Phi_K^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_K^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \right) \\ &= \int_{\Omega_{\mathrm{ref}}} \mathrm{d} u_{\mathrm{ref}}^{(n-1)} \wedge \tilde{\psi}_{\mathrm{ref}}^{(0)} \end{split}$$



$$\begin{split} \left\{ u^{(n-1)}, \tilde{\phi}^{(0)}, \tilde{\lambda}^{(0)} \right\} &\in \left\{ H \Lambda^{n-1}(\Omega), L^2 \tilde{\Lambda}^0(\Omega), H_0^{1/2} \tilde{\Lambda}^0(\Gamma) \right\}, \\ \left\{ \begin{array}{ll} \left(v^{(n-1)}, u^{(n-1)} \right)_{\Omega} - \int_{\Omega} \mathrm{d} v^{(n-1)} \wedge \tilde{\phi}^{(0)} \pm \int_{\Gamma'} \tilde{\lambda}^{(0)} \wedge \operatorname{tr} v^{(n-1)} &= 0 \\ - \int_{\Omega} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Omega} f^{(n)} \wedge \tilde{\psi}^{(0)} \\ \int_{\Gamma'} \tilde{\gamma}^{(0)} \wedge \left[\operatorname{tr} u^{(n-1)} \right] &= 0 \end{split} \right.$$

Basis functions in Ω_K are defined by the **inverse pullback** of the basis function in $\Omega_{ref}: \Phi_K^{-*}(\cdot)$

$$\begin{split} \int_{\Omega_K} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Phi_K(\Omega_{\mathrm{ref}})} \mathrm{d} \Phi_K^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_K^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \\ &= \int_{\Omega_{\mathrm{ref}}} \Phi_K^* \left(\mathrm{d} \Phi_K^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_K^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \right) \\ &= \int_{\Omega_{\mathrm{ref}}} \mathrm{d} u_{\mathrm{ref}}^{(n-1)} \wedge \tilde{\psi}_{\mathrm{ref}}^{(0)} \end{split}$$

In discrete form, it reads $\mathbb{W}\mathbb{E}^{n,n-1}u_K$



$$\begin{bmatrix} \boldsymbol{A}_{K} & \boldsymbol{B}^{T} & \boldsymbol{C}^{T} \\ \boldsymbol{B} & \boldsymbol{0} & \boldsymbol{0} \\ \boldsymbol{C} & \boldsymbol{0} & \boldsymbol{0} \end{bmatrix} \begin{bmatrix} \boldsymbol{u}_{K} \\ \boldsymbol{\phi}_{K} \\ \boldsymbol{\lambda}_{K} \end{bmatrix} = \begin{bmatrix} \boldsymbol{0} \\ \boldsymbol{W}\boldsymbol{f}_{K} \\ \boldsymbol{0} \end{bmatrix}$$

Basis functions in Ω_K are defined by the **inverse pullback** of the basis function in $\Omega_{ref} : \Phi_K^{-*}(\cdot)$

$$\begin{split} \int_{\Omega_{K}} \mathrm{d} u^{(n-1)} \wedge \tilde{\psi}^{(0)} &= \int_{\Phi_{K}(\Omega_{\mathrm{ref}})} \mathrm{d} \Phi_{K}^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_{K}^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \\ &= \int_{\Omega_{\mathrm{ref}}} \Phi_{K}^{*} \left(\mathrm{d} \Phi_{K}^{-*} u_{\mathrm{ref}}^{(n-1)} \wedge \Phi_{K}^{-*} \tilde{\psi}_{\mathrm{ref}}^{(0)} \right) \\ &= \int_{\Omega_{\mathrm{ref}}} \mathrm{d} u_{\mathrm{ref}}^{(n-1)} \wedge \tilde{\psi}_{\mathrm{ref}}^{(0)} \end{split}$$

In discrete form, it reads $\mathbb{W}\mathbb{E}^{n,n-1}u_K$



$$\begin{bmatrix} \boldsymbol{A}_{K} & \boldsymbol{B}^{T} & \boldsymbol{C}^{T} \\ \boldsymbol{B} & \boldsymbol{0} & \boldsymbol{0} \\ \boldsymbol{C} & \boldsymbol{0} & \boldsymbol{0} \end{bmatrix} \begin{bmatrix} \boldsymbol{u}_{K} \\ \boldsymbol{\phi}_{K} \\ \boldsymbol{\lambda}_{K} \end{bmatrix} = \begin{bmatrix} \boldsymbol{0} \\ \boldsymbol{W}\boldsymbol{f}_{K} \\ \boldsymbol{0} \end{bmatrix}$$

- $A_K = M_K^{(n-1)}$: the symmetric mass matrix, changes from element to element.
- **\blacksquare** $B = W \mathbb{E}^{n,n-1}$: same in every element.
- \blacksquare *C* : wedge matrix related to the weak continuity term

$$\int_{\Gamma'} \tilde{\lambda}_h^{(0)} \wedge \left[\mathrm{tr} \; u_h^{(n-1)} \right]$$

same in every element.







$$\begin{bmatrix} \boldsymbol{D}_K & \boldsymbol{C}^T \\ \boldsymbol{C} & \boldsymbol{0} \end{bmatrix} \begin{bmatrix} \boldsymbol{w} \\ \boldsymbol{\lambda} \end{bmatrix} = \begin{bmatrix} \boldsymbol{h} \\ \boldsymbol{0} \end{bmatrix}$$



$$\begin{bmatrix} D_K & C^T \\ C & \mathbf{0} \end{bmatrix} \begin{bmatrix} w \\ \lambda \end{bmatrix} = \begin{bmatrix} h \\ \mathbf{0} \end{bmatrix}$$
$$CD^{-1}C^T\lambda = CD^{-1}h$$



$$\begin{bmatrix} D_K & C^T \\ C & \mathbf{0} \end{bmatrix} \begin{bmatrix} w \\ \lambda \end{bmatrix} = \begin{bmatrix} h \\ \mathbf{0} \end{bmatrix}$$
$$CD^{-1}C^T\lambda = CD^{-1}h$$

After solving for λ , the remaining three local problems are trivial since D^{-1} is already there.



Analytical solution

$$\tilde{\phi}_{\text{exact}}^{(0)} = \sin(2\pi x)\sin(2\pi y)$$

$$\Omega|\left(x,y\right) = [0,1]^2$$

$$\begin{cases} x = \frac{1}{2} + \frac{1}{2} \left(\xi + c \sin(\pi \xi) \sin(\pi \eta) \right) \\ y = \frac{1}{2} + \frac{1}{2} \left(\eta + c \sin(\pi \xi) \sin(\pi \eta) \right) \end{cases}$$



FIGURE $- 3 \times 3$ elements, polynomial order N = 2. Left : c = 0. Middle : c = 0.15. Right : c = 0.3











2-d potential flow around cylinder



FIGURE - 2-d potential flow around cylinder.

The Sand-Shale problem



(a) Sand Shale domain

TABLE – Net flux through the left or right boundary at polynomial order $N =$	20
--------------------------------------------------------------------------------------	----

$k=10^{-1}$	$k=10^{-2}$	$k=10^{-3}$	$k=10^{-4}$	$k=10^{-5}$	$k=10^{-6}$
0.676763	0.562508	0.526257	0.520749	0.520166	0.520107

R	aŗ		
C		0	0

Thanks

Thanks, questions?